Monday — These challenges should take 5-10 minutes. Send photos on Dojo or email
year2@highlane.stockport.sch.uk for feedback.

1 | 57+37=

2 |45+5=
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3 [16+4=

[0 Apples are sold in bags of S
Tim buys 6 bags of apples.

Tim uses 8 apples to make a pie.

How many apples does Tim have
lef1?

Tuesday

E Two strips of paper are placed

end to end.

How much longer is the yellow
strip than the red strip?



17+30=

of 6
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18 +2=




Wednesday

1 |5x5=

10

3 |[9x5=




N Order the four numbers.

Start with the smallest number-.

2 tens

30 ones

7 ones

|| I hundmdﬂ

E What is the sum of these two

numbers?

nnd[l ten and 5 unus]

Thursday

H Complete the final calculation.
AA-s
A @
A-O



20

30+5 =

28 +43=

Friday




20+ 5=

7+10+3=

55-25=




Explain

Mrs Brown is counting how many days it rains this month.
Here is her tally chart so far:

M |

Why is Mrs Brown using tally marks instead of numbers?

Mrs Brown is counting how many children on school
dinners and how many on packed lunches.

Here is what she wrifes:
2?2 school dinners 8 packed lunches

Why is Mrs Brown using numbers instead of tally marks?




